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Na = 6.022X 10% mol"! ,
For molar masses always use the provided periodic table
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14) Which of the following is a chemica] change?
a) bo'iling of water b) melting wax

: . @ Cooking a .steak on a gri
d) condensing water vapor into rainfal] €) cutting a piece of wzogcilu

2) Carry out the following arithmetic operation to the correct number of significant

figures: 34 i
T 3.125gxn+0.110 g q5
1s a constant equals 3.14, exactly. 981 4 0.110 =
)99 ¢g b) 9.922¢ (9992g 1992255 €9.92350 g
T
(P2 M s B
3) One of the following is an extensive property? P T
| ‘ g property ‘&/\A)\ ff 23
a) The density of a copper wire Y D OPW}J MBS S
b) The color of a homogeneous surface ~ ' =
¢) The temperature of a homogeneous surface
d) The color of water surface .
@ The mass of an element.
. Jm\)\wxﬁ‘ % | D |
. 4) The nucleus of the ﬁarenb atom has a mass number olf the number of neuigrjls ‘
in the nucleus is(1.2)times that of the number of protons, what is the element?
n= < / ]
@ Mn b) Cu ¢) Zn d) Cr e) Co
Toloe 25 24 30 a TR 2
o 435 65, i
Jibe 54,94 ° S ek
4 ,.\‘,,> 19 qL‘ . e ) {4
v 2 ‘ e
A
5) What is the name of Mn(HSQ3),? Mayines< 61\
@ Manganese (II) hydrogen sulfite |
b) Magnesium (II) hydrogen sulfate
¢) Manganese (II) sulfate _ | 28
d) Magnesium hydrogen sulfite -

¢) Magnesium hydrogen sulfate é te
‘ a te
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6) What is the formula of mercury(I) iodide?

a) Hel b) Hg;l; @ Hg,l, d) Hgl, e) IHg

7) Hydroxylamine nitrate contains 29, |7 mass % N, 4.20 mass % H, and 66.63 mass
O %. If its molar mass is between/© and@g/mo}, what is its molecular formula?

mowt = qy
a) NH,O:s @ N>H404 ¢) N3H30; d) N4H3O, €) NoH,04
T4 N W 0 ,.
12w~ 2447 U275 g N f‘_éi_ 9,
M Mo K i 16 2
= 2 i N H, 0, )
2.08 4.2 4.14
\ P 2 MwYy = 43
8) How many grams of sodium ﬂuorlde are needed to form 485 g of sulfur
tetrafluoride according to the fo[lowmg(unbalanced\chemlcal equation? = B te *
3 SCla(]) + NaF(s) — SFy(g) + S5Cla(l) + NaCl(s) = ‘
| 3 m* F = 1
; : N wn = ZB
’ a)513g  b)205g ©)1940g 41510 g @7s4g
4 s [ = +4' N
B Sty T AN s A T By
- \ ms = 07 ms:-‘ﬁ&53
7 Na b e o SE ' ‘ L w1 A
i ! A M.wx = M. Wt = 8
2'8""—> 4"_ 487\ - ot A N T 467
L e 17 99905 =
llowe o react to
) 9) A mixture of 32. 6 g of oxyg 0 g of hydrogenisa
produce H,O,. What is the mass of the remammg amount of the‘excess reactant? %

/I Ia(g) + Oz(g) = H0:(0)
) | & 144 RARA '
a)d40g  (H)8.0

W

o AR, SR 16
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10) What is the number of hydrogen atoms in 1 g BHs?
ﬁ 131x10%  b)3.54x10% ¢)3.0x10%  d)6.022x107 ¢) 1.81x10%
|
| - Ao L0FT wmele
\::%' s X /)
W IS T = Jio= e = MY W j
X :
|.308 X \0 3 _ "
| = 438 110
11) What is the percent yield for the reaction )
| \ PC]3(g)+C]2(g)—’PCl5(g) ) 4 ¥(
: if | 1\1_9}g of PCls are formed when 61.3 g of Cl; react with excess PCl3? p= 30- B
a) 95% b) 85.0% @ 66.3% d) 51.4% e) 43.7%
=
) el — \ bl pely =+ el, =—=s FC'S @5—0—4
.84 sV e 27 fias £k (‘i s
35.5% ¢ 5% -4
w=0.863 h.owt e L o
/ \\ '8é‘s =\ s ';..‘iq-ﬁ‘
)( M- wX A ? é’ e )) vzt O,P P
12) Calculatethe mass of the @011;? pitate fesults from mixing 20.0 mL of 0.150 M 173
Na,SO; solution and 20.0 m 00 M BaCl, solution. B = 13%.
'g?_ . ot

©0.175  d)0272 @0 4 -

a) 0.117 b)3;23§) &,‘}m\ o
chpl__,Ba'goﬁ Nea, S04+ (Bacld —> 2 Nacl @ ik 4 1

2010 —> 2 N =+ oty = 20 Y167 s E ol Q. A 468
i 0. _ 0.

0= ZX\O3 Wiie 043 ik B 6

4 -y Y T Mot o BB

&qgo“ w = gX\O N5y

13) A 0.00100 mol sample of Ca(OH): requires 25 00 mL of aqueous HCl for
neutrahzatlon What is the concentration of the HCI1?

a) 0.020 M b) 0.040 M ¢) 0.060 M (d)0.080 M e)O.lOM
he CcaloWe oo el
y RS )
@M - NE M
-3 HL
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14) Which of these equations éoes not )re;;resent an oxidation-reduction reaction?

b)

a) 3Al + 6HCl & 3H, + AlCl; 97
b) 2H,0 > 2H, + 0, <« &%
c) 2Nal + Bry = 2NaBr + I, < &z
2NaCl + Pb(NQ3), > PbCly + 3NaNO; o (" d(C Y
e) Cu(NOs); + Zn > Zn(NOs); + Cu’ (s 2
— > .
o
) .

\ M
15) A 10.00 mL sample of 0.203 M hydrochloric acid is introduced into a ﬂask
and water is added until the volume of the solution reaches 250.mL. What is the

concentration of aifricaeit in the final solution? Vo _,:,_
H drochlomt acid ' '
a) 127 M pet @ 812x103M ¢) 0.406 M
d)3.25x10-2 M ) 5.08 x 10-4 M
N, m \ = Na - AN T
16 ¥0.203 = 250 XM
16) Which of the following aqueous solutions woul(_l__p_lﬂucb a preclpltdte upon
mixing: p
el N : C ‘."""‘)('”L'
@NaCl(aq) + KOH(aq) a0+ 4
%) 2NaClO; (ag)+CaCl(ad) Now + Ca @ (0 \
¢) Ba(OH)x(aq) + NaCl (aq) ¥
/d) 2NaClO4(aq) + Ba(OH)(aq) N« QW L’% Ba (cl oa\ :
3NaOH(aq) + FeCl; (aq) —
@ Nacl r 2 (oM )y ) il
ey
el )

PN
\“\7\0 /L&’)
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